Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - VI+ EXAMINATION - SUMMER 2016

Subject Code: 3335003 Date: 12/05/2016
Subject Name: Surveying and Leveling
Time: 02:30 PM to 05:30 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. €Ml SlEURL Ulcdotl wallet AW, 14
Define surveying.

ydeate{l catvatl .

Explain basic principles of surveying.

U Taletl vl @il oseual.

Explain types of offset with sketches.

Ugjcdatatl YsiR algld €131 uxesal

Explain effect of local attraction on bearing

AR UR eUlas sl AR wRUAL

Draw the conventional symbols of the following terms:
Hedge (2) Wall with gate (3) cutting (4) Temple.

o{lAettoll 3(Bolcd 2oetl €12

Define W.C.B and R.B.

Yulgd Aol Aol grule ARoLell carvall .
Define Magnetic meridian

Yolda 2uialell catvaul L.
Explain fore bearing and back bearing.
WIYA(I2L WA uHARoL MLl
Explain Bench mark.

AAdRles UM

Explain contours.

AHLRRUL UHsLal.
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Q.2 Construct a scale having RF= 1/2500 and show 228m distance on scale. 03
U () 3R Hyelis= 1/2500 U2 ([@Asel ¥ctoll U 5A. wUA AUl 228 03
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OR
(@) Explain uses of surveying. 03
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Adelutell Gunlon yHestal.
Explain any one method of chaining on sloping ground.
alaaltofl eslot U Aisn ad iR Huale(l As Ad uxesal.

OR
Draw one page of field book and show tree, electric pole, building, and
compound wall on it

(3esoise] As Vo €131, Aol UR LS, BAGLS WA, Hslet U SUES

(2 cuct ol

A 20m chain was found to be 10cm too long after chaining a distance of
1800m. It was found to be 20cm too long at the end of day’s work after
chaining a total distance of 2800m. If the chain was 10cm too short at the
beginning of the work, find the true distance measured.

As 20 HleRell Aisn 1800 HleR B2 Hu ugl 10 A aurR
ctioll HigH sl Rariotl A get 2800 HleR R Haul ugl 4L
Aisn 20 A ay cioll 1 usl. 1 siiell A3UAML 2L AisAL 10

A ol ay gsl ecdl Al A iR M.

OR
Explain reciprocal ranging with neat sketch

el AURMEL wLglA 131 A1
Explain Base line and Tie line with neat sketch.
VLRV Aol AR 29 Alg(A ad Anstal.

OR
Enlist types of obstacles in chaining? Explain any ONE method to overcome
the obstacle.

A5 A BARHIURIHL Aleldl AN LUl S8 uRL As Ild
AHstal.

Differentiate closed traverse and open traverse.
OLUHIGUR WG Aol WEE HIARWEL AR dgleld .

OR
Convert the following QB in to WCB :
(1) $35°30" W (2) N30° 15" W (3) S 32° 15" E
o(lAetl griule AR Yelgr AR 3Rl
1) $35°30" W (2) N 30° 15" W (3) S32° 15" E
Explain temporary adjustment of prismatic compass.
Q»ARs sulde] sourl UMt AHIAL

OR
If F.B. of line PQ is S 17° E and F.B of line QR is N 47° E, find angle PQR.

PQ ulle] WIUARI S17°E B ol QR lej WIAARI N 47°E B. dl
WRL PQR 20l

Write a short note on closing error.

AHUt (A UR gsollel UL
OR
The bearing of a closed traverse ABCD are as under. Calculate interior
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angles.
Apply usual checks

WUMIARHEL ABCDell ARIL oflA Yot 8. Bicdold vjoll U ua
%33 dloll Andl.

LINE F.B
AB 40°
BC 70°
CD 210°
DA 280°

Differentiate between: (1) Prismatic compass & Surveyor’s compass.
(2) Local attraction & declination

dstald WAL (1) Q3ARs s wal dduR suA

(2) AsA AUsNRL WA (S5AAUa.
OR

The bearing of a closed traverse ABCD are as under. Calculate included
angles and apply necessary:
WUMIARHEL ABCDell ARIL oflA Yot 8. Bicdold vjoll U ua

%33 dloll Andl.

Line | Fore bearing
AB | N46° 10°E
BC |S60° 40'E
CD |S 9° 50’E
DA | N80°40°W

Differentiate between internal focusing telescope and external focusing
telescope:

UARS lllelalet 2(ASIU WA olldl oll@2ot (AU cARAA dsleld
UL

OR
Define contour and explain in brief.

AU udle{l cauiuupUl Wl sHL AHostAl
Explain various uses of contour map
AHLRRRUL alladl alsalletl yel-9el U0 LUl

OR
Explain temporary adjustment of level.

Aad Hi2ef oMl AMLRsat UM
Explain the characteristics of contour map.
ARV otsllell cllat@lsdl el

Explain fly leveling.
sclla Aa(Aol uresal.

Following ground level were taken during contour survey project. First
reading was taken on TBM, and change points after fourth and seventh
reading. TBM=20 m. work out R.L.by any method.

3.55,2.39, 1.72, 0.98, 0.25, 1.11, 1.68, 2.35, 3.05.

o{lA g2ladd ciUuslis 50z ULl AHA AclHL MUAA &cll. YUH
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cdiuatis lollAU. UR QoM HUAA &d. AR AUl W AUldAHL
diUalis olle Add WASAUHL A &d. Sl.oll.Ax=204l. ol

dixusilis M2 sy Aad Al

3.55, 2.39, 1.72, 0.98, 0.25, 1.11, 1.68, 2.35, 3.05.
Differentiate between Rise and fall method and H.l. method.

ASR W SlA AAUS Ul AU AAS Aol dglald AU
Explain in brief : Errors in level
g5l AU A: AdAHl A[d.
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